Bemerkung 3.16: Ausloschung

x 10~ (1-cosx)/x-x/2

Beispiel:

f(:L‘) — 1 —cosz 5| Reihenentwicklung | |

numerisch

see
numstab.m

% -> evaluate data
X logspace ( -12, -4, 801 );
T (1-cos(x))./x - x/2;
res xf2 . * ( -x."2/12 + ...
X.~/360 - x.”~6/(360*7*8) );

Ergebnis
o

% -> plot

semilogx ( x, res, "g", x, ¥, "r" );
xlabel ( *x" );

ylabel ( "Ergebnis® ); -5 .
title ( "(1 -cosx )/ x-x/2");
legend ( "Reihenentwicklung®, "numerisch® ); ' ' '

10" 107° 10° 10° 10

Martin-Luther-Universitat Halle-Wittenberg, NWF IlI - Institut fir Mathematik
Martin Arnold: Numerische Mathematik (BSc Wirtschaftsmathematik, SoS 2010)




